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w-machine-constraint(w)
=qef Vi:Id.
let Choose,Trans,Send = w-machine(w;i) in
Vt:N.
(~(Tisnull(a(i:1))))
= ((A\x.s(ist+1).2) = (Ax,q. Trans(kind(a(i;t)),val(a(ist)), z.s(i;t).x,z,q + 1))
& ((Tislocal(kind(a(s;t))))
= (I=:N
((1isl( Choose(act(kind(a(é;t))),x,A\x.s(i;t) .2 (
cA (val(a(i;t)) = outl(Choose(act(kind (a(é;t
& m(ist) = Send(kind(a(i;t)),val(a(i;t)),A\x.s(ist).z(0

0))
)z, Az .s(i5t).z(0)))))))
)

clarification:

w-machine-constraint(w)
=g4er Vi:ld.
let Choose,Trans,Send = w-machine(w;i) in
Vt:N.
(=(Tw-isnull(w; w-a(w; i; t))))
= (Az.w-s(w; i; (t4+1); 7))

(Az,q. Trans
(w-kind(w; w-a(w; i; t))
;w-val(w; w-a(w; ; t))
Az.w-s(w; i & x)
N
.q + 1))

€ x:1d— Q —w-vartype(w; i; x)

& ((Tislocal(w-kind (w; w-a(w; 4 t))))

= (J=:N

((1isl( Choose(act(w-kind (w; w-a(wj; 4; t))),x,Az.w-s(w; 4; t; £)(0))))
cA (w-val(w; w-a(w; i; t))

(:utl(C’hoose(act(w—kind(w; w-a(w; i; t))),z, z.w-s(w; ¢; t; 2)(0)))
€ w-valtype(w; i; w-a(w; i; t))))))
& w-m(w; i t)
gend(w—kind(w; w-a(w; ;5 t)),w-val(w; w-a(w; 4; t)), z.w-s(w; ; t; 2)(0))
€ (Msg(w.M) List))

http://www.nuprl.org/FDLcontent /p0-963683_/p30-495003_{ w-machine-constraint }.html



